:Sample Question Paperj

. Which row has the same number of shapes as AAAA

» OO0000

» SOOO
O AAAAANANNAN

(D)

(E) None of these
B U ¥ R i F G A A S S F 2

» OO0000

» SOOO
CNAVAVAVAVAVAVAVAVAN

(D)

(E) 19 ¥ &g el

. What comes in between?
(A) 30 A A A
(B) 35
(C) 32
o G Q) ©)

(E) None of these

. S ¥ Far rar 2 ?
(A) 30 A A 2
(B) 35
(C) 32
o G ) ()
1

(E) 19 ¥ &g el



Class - 1

. Which of the following should have the less than sign?
(A) 414 B) 5 [13
(C) 517 (D) 9 [12
(E) None of these

. 314 9 fou fQdcy ¥ &9 &1 e 3mar 2 ?

(A) 4[4 B) 5 [13
(C) 517 (D) 9 [12
(B) ¥ 9 3y e

. Which symbol is used to show that 8 is more than 2?
(A) > (B) +
(€) = D) -

(E) None of these

. ®igar fag ‘s gsT 8 2 ¥ &I fe@mr g ?

(A) > (B) +
© = | (D) -
(E) ¥ | 3Ig T8l

. Arrange the given below rabbits from the smallest to the greatest?
(A) PQR,S

(B) S’ R) Q) P
7 @ 7 @ 7 @ 7 @
Eg)) > 8’ o
P Q R S

(E) None of these

. A far 10 @M B 9ed B A 999 98 D HA A gdfkerd dl |

(A) BQR,S
(B) S,R,QP 7 @ 7 @ ) )
(C) S,QR,P

P Q R S

(D) SSQPBR
(E) T & oI el
. The amount of juice in a apple.
(A) 50 ml (B) 501
(C) 51 (D) 11

(D) None of these



. UH 99 § 99 &I 94T @
(A) 50 fAell,

(B) 50 ¢l

(C) 57¢fh

(D) 17,

(D) ST | BI3 e

. Which number is written on the flower?

(A) Twelve

(B) Twenty-two
(C) Thirty-Two
(D) Seventy-Two
(E) None of these

. e R &I W de&r fad 8 ?
(A) dR®
(B) wrgw
(C) a<ira
(D) &R

(B) ST 9 BIg el

. Match the numeral with beads on each abacus.

adasisad

Class - 1

é

(i) (ii) (iii)
(A) 25
(C) 43
(E) 37

(A) (A)-(ib), (B)-(1), (C)(iii), (D)~(iv), (E)-(v)
(B) (A)-(ii), (B)-(v), (C)=(iv), (D)-(iii), (E)-(i)
(C) (A)-(ii), (B)-(v), (C)-(i), (D)-(iii), (E)-(iv)
(D) (A)-(ib), (B)-(v), (C)(iv), (D)-(1), (E)-(iii)

(E) None of these



Class - 1

. D UdHY H 9E=IT Bl g9l dl =T A = ad |

ol

(i) (ii) (iii) (iv)

(A) 25 (B) 9
(C) 43 (D) 34
(E) 37

(A) (A)-(ii), (B)-(i), (C)-(iii), (D)-(iv), (E)-(v)
(B) (A)-(ii), (B)-(v), (C)-(iv), (D)-(iii), (E)-(i)
(C) (A)-(ii), (B)-(v), (C)-(i), (D)-(iii), (E)-(iv)
(D) (A)-(ii), (B)-(v), (C)-(iv), (D)-(i), (E)-(iii)
(E) T4 9 Ig &1

Chose the correct subtraction sentence for the given picture.

ERRBBBEED

ﬂ ﬂ 0 ﬁ LA ﬂ (7 A0 ath,
B e..e“ K 5 5
ﬁ A XA 0 ﬁ ﬂ A XA 7

£ee e..e BB 5B B E

(A) 2 tens 3 ones -4 ones (B) 2 tens 3 ones - 5 ones
(C) 2tens 7 ones — 5 ones (D) 2 tens 7 ones — 4 ones
(E) None of these

. e v o3 4 ¥ 6 A@waq aed g

XL XL WK XA XL XD Xt Xt XY
BEREEEEHD
(TH (1) (D (1) J (1) (J W, ()
BEBBRDND D
v, (A (1) U (A v, A 'ﬂ' (J
BHRBRBEBBK
(A) 2TBE3SHIS - 43DS
(B) 2TBIE3SHIS - 53hS
(C) 2TBIS7SHIS - 53hIS
(D) 2 GBS 7 SHIs - 4 SPTs

(E) S99 9 ®IS &1




10.

10.

11.

11.

12.

Class - 1

Anusha’s drawing class started at 10 O’clock. The class lasted for 1 hour. When
did the class end?

(A) 11 Otclock

(B) 9 Otlock

(C) 12 Otlock

(D) 1 Otlock

(E) None of these

T BT FISIT FATH 10 991 Y g3 | IATH 1 €S ddb dcll, dl FATH Hd

AT g3 °

(A) 1199 (B) 999
(C) 1299 (D) 1991
(B) ST 9 BIg el

Put 18 buttons equally into 3 groups. How many buttons are there in each group?

(A) 21 (B) 15
(C) 36 (D) 6
(E) None of these

18 dcHl &l SRIER—aRER & 3 YUl (Gqal) 4 @l | Y& 4u d fead

(C) 36 (D) 6

(E) 37 A ®Ig =TEl

Penguin is nearest to the snowman.
% [004
p R Q S
(A) P (B) R
€ Q (D) S

(D) None of these



Class - 1

12. ¥f¥q+ AT (% @ 3reH) & F9d A9 D B |
@« 001
p R Q S
(A) P (B) R
©) Q (D) S
(D) 379 & BIg &

13. What number comes next in the given number pattern?

Co s s s o s L+ 1)

(A) 45
(B) 50
(C) 55
(D) 60
(E) None of these

13. fau w1 gwar ded 7 3pTell O=Ar dia—d 3l @ ?

Co s s s o s L+ 1)

(A) 45
(B) 50
(C) 55
(D) 60

(E) 379 A ®Ig =TEl

14. Which clock shows 4 O’clock?




Class - 1

MHBTHN g A 499 & ?

(A) (B)
© [ (D)
(E) STH | P el

15. The diagram shows the prices of bell and ball. "
What is the total cost of one bell and two balls? !
(A) T 89.50 (B) ¥ 99.50 (\L/
(C) T 64.25 (D) T 39.25
(E) None of these (? 39'50) ( 25 )

15. = 3 g 3R Ae ) Haa fears 18 2
UH ©dl X 2 Al B dHd &1 8 2

(A) ¥89.50 (B) ¥99.50 . .
(C) T 64.25 (D) T 39.25 &k

(E) T A H1g T8 (%3950) (%25 )
16.3 1= Dx 50 paise. The D stands for .

(A) 1 (B) 2

(C) 10 (D) 100

(E) None of these

16.31=(_Jxs0d1 (o fow omar 2 |

(A) 1 (B) 2
(C) 10 (D) 100
(E) =8 9 P el
17. Each é stands for 2 houses. stands for 6 houses.

w A A ®m A A A
©AAAA DAAAAAA

(E) None of these




17.

18.

18.

19.

Class - 1

qaiaséaaﬁa%mem@. 6 TR ® Fore T |

w A A ®m A A A
©AAAA DAAAAAA

(E) 378 A ®Ig =TEl

Which of the following look like a cone?

@ ()
(©) @ (D)

(E) None of these

=

/1 § | &9 91 U ¥iq @ avE fewE qar @ ?

W ®
P
© @ ®

(E) 378 A ®Ig =TEl

If Rohan’s birthday is on second Thursday JANUARY 20XX
of January 20XX, ThenwhenwillRohan | M T W T
celebrate his birthday? ) 5 3 4
(A) January 11

(B) January 18 7 8 9 10 11 12 13
(C) January 4 14 15 16 17 18 19 20
(D) January 17 21 22 23 24 25 26 27

(E) None of these 28 29 30 31




19.

20.

20.

21.

21.

Class - 1

Ife A8 &1 STHfesT SHad 20XX JANUARY 20XX

& QER dRAR &1 8| d9 AT IO [

wfeq fog aig &1 g7 ?
(A) January 11

M T W T F
1 2 3 4

(B) January 18 7 8 9 10 11 12 13
(C) January 4 14 15 16 17 18 19 20
(D) January 17 21 22 23 24 25 26 27
(E) 3T & ®Ig el 28 29 30 31

Next figure in the figure patternis

AAVVA ATV
@ /\ ®  /\
@ \/ oV

(E) None of these

femR s ded @GO darear R

AVNYAYVAVWNYAY
TSEAN ®  /\
© \/ oV

(B) 319 9 ®lg el

There are 14 pink dolls and 23 red dolls in a bad. How many dolls are there
altogether?

(A) 35 (B) 40

(C) 37 (D) 73

(E) None of these

TP A 4 14 Al AT, 23 AT IISAT B | Hol AaTdR fHa-i [feamg
-4

(A) 35 (B) 40
(C) 37 (D) 73
(E) T A 3Ig T8l
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22. 3 X 4 means .
(A) 3+3+3 (B) 4+4+4
(C) 4+4 (D) 3+3+3+3
(E) None of these

22.3 x4 BT Adeld & .
(A) 3+3+3 (B) 4+4+4

(C) 4+4 (D) 3+3+3+3
(B) 78 & &g &l

23. Which figure will complete the pattern?

AOU -

(A) (B) é
(©) (D) @

(E) None of these

23. &I 41 a7 9 & Q1 S ?

AOU

(A) (B)

(©) (D) @

(E) & & 313 &l

24. How many circles are shown here?
(A) 10+3
(B) 7-3
(C) 5+6
(D) 20-8
(E) None of these

10
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24. 981 R fdad g« fawg ©™ € ?
(A) 10+3
(B) 7-3
(C) 5+6
(D) 20-8

(E) T4 9 &Ig 8l

25. What piece can be put together with shape Q to make a circle? @
@ ®
© T o J

(E) None of these

25. %1 ¥ TPHs $l Q B WM W@ WR TS g §9dT @ ? £

@) N ® (N Q
© T ®

(E) T & Pl 7T

26. Which gift is the first gift? 'Ii | i l E I E
(A) S (B) R
© Q (D) P

(E) None of these

26.39% ¥ Ugam fige dI9 A1 8 ? ﬁ'ﬁﬁ

(A) S (B) R
€ Q (D) P
(E) T & oI el

27. There are eyes in the given figure.
(A) 16 (B) 14
(C) 18 (D) 20

(E) None of these
11
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27. few M fo=t A AMH B |
(A) 16 (B) 14
(C) 18 (D) 20
(E) 19 9 g el

28. How many different ways are there to write 1 2 3 4 5 from the given figure?
(A) 6
(B) 7
(€) 8
(D) 5
(E) None of these

28.fav 10 I ® 12345 forma & fHaq T 27?
(A) 6
(B) 7
©) 8
(D) 5

(E) 379 A ®Ig =TEl

29. Riya has I25. Misha has 320. Riya has more than Misha.
(A) R4
(B) 5
(C) %45
(D) 20
(E) None of these

VRITdumIB T I Emds a0 RIT o urg fema 2
3ifera 2 |
(A) T4
(B) T5
(C) T 45
(D) T 20

(E) 37 A ®Ig =TEl

12



30.  [PencilBox | Jisa .

(A) Cone
(C) Cuboid
(E) None of these

30. [PenciBox | J APt araw T

(A) ¥
(C) g™

(B) 19 9 BI3 el

(B) Cylinder
(D) Sphere

2

(B) &

(D) el

Class - 1

Please tick (v') mark your answer
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